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Neme: Class:

Division Patterns with zeroes

Divide the following.

a. 35+ 5= | £ 160,000 + 8 =

b. 350 % 5= _ _ | Q. 16,000 + 8=

| C.| 3,500 +5 = | 1,600 + 8 =

d. 35,000 =5 = B 160 + 8=

le. | B350000(+5=| L1 Ll | 16 185

In each of the following division sentences, fill in the
missing number.

Lk | [LLl*3F | | 3 LRl L 84 4= | | | ] e

Lpd | 900,000+ 3= | e b we . 8400,000 + 4= | e

gl | Ll.l.l. +3=] 3000000 . x. 84,000,000 #...= [21,000,000 |
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Neme: Class:

Division Patterns with zeroes

_ Divide the following.

a. 35+ 5= 7 f.. 160,000 + 8= 20,000

b. 350 4 5= | | 70 | lg. 16,000 # 8= 2,000

c. 3500+5= 700 'h. 1600 + 8= 200

d. 35,000 +5 = 7,000 L1, 160 + 8= 20

'e. | 350,000+5= | 70000 | | j 16+ 8= 2

In each of the following division sentences, fill in the
missing nhumber,

k! | |9l +lz3+ | | 3 | | lrl 84l + 4= | | .2

Ll | o0 3= | .29, | | Is| 1840 & 4 < | | e

m 900 +3= | 300 | =t s400+ 4= [ 2100

n. 9,000 + 3= | 3,000 _ lul (84,000 (4= | 21,000

oooooooooooooooooooo

o, 90000 :3z- | 30000 | |y 840000:4- | 210,000

P. 900,000+ 3= | 3QQ.000| | 'W. 8,400,000 + 4= |[2190,000

.........................

g 9000000 .3-[3000000  x 84000000 + 4 = [21,000,000
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